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11X HPE ¢ 75,PP ¢ 50,30,20,13 & (AKH)

" 2 P ‘
e e i S O A B g |
[Erpr]

o Ly
EFZOAEE 675 76 3 79 N
DIP%H
AWK T $ 15X ¢ 75 1 1 18
HPES
$ 150X ¢ 75 1 1 1
75 K 75 2 2 1
FifneD
VIR — AR 675 2 2 1
FRED
FCDRATF ¢ 50 1 1 1
i A
AT E JWWA B 132 2 3 5 il
FEY T
PR25 (K) 2 6 8 1
IR
RA25 (A) 2 3 5 1
e
RB25(B) 4 4 1
[ BRE
RC25(C) 2 3 5 &
JERR
RS25(S) 2 3 5 2l
EFYAroh 675 6 6 1
EFFp 675 1 1 1
SUSaTAf
MEY'aA{h ¢ 50 2 2 18
V])'A'é;ﬂﬂ
B 675 1 1 1
Gl
PEFRL L BFBR TR | 975X ¢ 75 1 1 1
BRI 625 1 1 18
TERFE 450 X 350200 ] 1 &
AFREA
450 X 350-200 ] 1 1
CHEIS
450 X 350-200 1 1 1
AT
680X 200-40 1 1 1
FEERR T | ¢ 75X 150mm 1 1 A
®75 50 A
BR7T—7 TR | 39458 + 6.50 + 95.00 496.1 m
= —H—H 19 19 1
Rz F LA 613 64.5 64.5 m
620 26.0 26.0 m
$ 30 4.5 4.5 m
¢ 50 7.0 7.0 m
PR LR 613 ] 1 fi&
& 50 2 2 1
PR/ Aok ¢ 50 1 1 1
20X ¢ 13 1 1 1
PV Aok 613 14 14 1
620 1 1 1
¢ 30 1 1 1
EFEHYRALDKEE] 075X ¢13 14 14 1
75X ¢ 20 2 2 1
75X ¢ 30 1 1 1
G 75X ¢ 50 2 2 1
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11X HPE ¢ 75,PP ¢ 50,30,20,13 955

FﬂﬁD)ﬁU\‘ﬂ»l\

Za ) bsikig B B | B
[F#]
g EER
RUFL R ¢ 75 396.85 -~ 1.56 - 0.71 394.6 m
¢ 50 7.00 7.0 m
¢ 30 4.50 4.5 m
¢ 20 26.00 26.0 m
¢ 13 64.50 64.5 m
RU=F L BT 675 4 4 8]
FRET AL = LA i T ¢ 75 1 1 m]
Bk g 1 GT5X ¢ 75 1 1 FERT
$ 150X ¢ 75 1 1 FEET
U FERE T ¢ 75 2 2 FEET
EZEAD
¢ 50 1 1 &P
EHES T
TR SRR 1 $25 1 1 &
[EKE B! ik Fry 7"
SRS T ¢ 75 7% 0+ 3 4+ 6 + 1 + 86 T
e} ME 34k
A= HVHETR L ¢ THLLF 1 + 2 3 8]
TIUEE A
TV HETR T 675 2+ 2 4 a]
MFYafwh
¢ 65LLF 2+ 2 8]
AR L R — T 675 394.58 394.6 m
BART—7 %1 496.1 496.1 m
TR ik R
PR ¢ 13 2 + 29 31 &
TR Vrwh FR
¢ 20 + 3 3 B
TR VA
¢ 30 + 2 2 B
TR ik
¢ 50 4 + 2 6 B
EFE H
Sy AR IR 1 $75X ¢ 13 14 14 BT
EF& R
& 75X ¢ 20 2 2 FERT
EF%E H
¢ 75X ¢ 30 1 1 ]
EFE H
d 75X ¢ 50 2 2 ]
PVY a4y
AH=IEERALT] ¢ TRLLT 1 1 8]
U] E P ARG H=890mm 1 1 & Fr
#=1,190mm 1 1 54
D FEroAFoE 1.98 20 e
AT G TH BRI Tv 7 | 8.87 8.9 kg
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1T fEEMHE KRR 245

B SO

4 W HAE B B | sy
i) (BEEE)
R F Lo 675 0.91 X 2.180 1.98 ke
BEFFGAT v 7B 1.98 ke
i) (BEEE)
PV af b 675 1.0 X 8.87 8.87 | ke
BEATFV 7| 8.87 kg
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1 LXK+ CEEEHA

s B K OV X

% HAE B B | A
[+T1]
As
ST t=15emPAF | 507.0 37.0 + 544.0 | m
VE IR - L5 1 1.17 0.03 + 1.2 ni
As
EHSERRIMOBEL 1. | 1=10emPlF | 238.1 + 10.2 + 248.3 | of
FHAIA
Aoy I ST t=6cm + 28.2 28.2 i
W WEL 229.3 7.6+ 19.4 256.3 | of
HHEL T RC—40 57.0 1.6+ 5.1 63.7 nt
w 111.7 42 + 11.9 127.8 | o
et ausy BEL 229.3 7.6 + 19.4 256.3 | o
T 229.3 7.6+ 19.4 256.3 | o
FRBi AL As 23.86 0.41 + 24.3 ot
TRl E As 23.86 + 0.41 + 24.3 ot
BHAEAs
FT t=5cm 238.1 + 238.1 it
BHAEAs
t=3cm 10.2 + 10.2 i
FHAIA
A BRI BB T t=6cm + 28.2 28.2 i
M-~30
s t=15cm 238.1 + 238.1 i
RC—40
FaiiT t=15¢m 238.1 + 238.1 o
AR T - 102+ 10.2 o
+ 28.2 28.2 of
KEfR L 66.0 + 115.6 + 68.2 + 105.2 355.0 | m
4.0 3.0 + 3.0 10.0 m
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+ T % &\ K
D1 LIKHPE ¢ 754ia% T EH ERH)= 090 m
BOE (B A E Vi) T HIE (W) FAHRE(C)
BHE(D2) 0.090 PEHIhE (W) 0.55 + = 0.55 m
HEHIE (W) BR (1) AR b
H L= 0.55 X ( 0.8 + 0.090 + 0.1)= 0.54 m
HEHIE (W) BR (1) MBI R
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B SO
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M-~30
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F s EAE 1. t=15¢m 75.4 75.4 id
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T t=10cm 4.4 4.4 i
' SR
B 1 128.0 128.0 | m
4.0 4.0 m
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